ECONOMICS I
017 A

v NATIONAL EXAMINATION AND

L 27/07/2023 8:30 AM -11:30 AMJ NESA SCHOOL INSPECTION

AUTHORITY

; ADVANCED LEVEL NATIONAL EXAMINATIONS, 2022-2023

SUBJECT: ECONOMICS I

PAPER I: BASIC PRINCIPLES OF ECONOMICS

COMBINATIONS:
— HISTORY-ECONOMICS- GEOGRAPHY (HEG)
- HISTORY—ECONOMICS'- LITERATURE IN ENGLISH (HEL)
— MATHEMATICS -ECONOMICS- GEOGRAPHY (MEG)
— LITERATURE IN ENGLISH-ECONOMICS- GEOGRAPHY (LEG)
- MATHEMATICS-COMPUTER SCIENCE-ECONOMICS (MCE)

DURATION: 3 HOURS

INSTRUCTIONS:
1) Write your names and index number on your answer booklet as they appear

on your registration form and DO NOT write your names and index number
on additional answer sheets if provided.

2) Do not open this question paper until you are told to do so.

3) This paper consists of Two sections: A and B.
SECTION A: Attempt ALL questions. (55 marks)
SECTION B: Attempt any THREE questions. (45 marks)

4) Candidates must give explanations with relevant examples where necessary.

5) Use only a blue or black pen.

2022-2023-NESA (National Examination and School Inspection Authority) 017-Pagelofa

CamScanner


https://v3.camscanner.com/user/download

T —

ECONOMICS 1
017 A

v NATIONAL EXAMINATION AND

27/07/2023 8:30 AM -11:30 AMJ NESA SCHOOL INSPECTION

AUTHORITY

ADVANCED LEVEL NATIONAL EXAMINATIONS, 2022-2023

SUBJECT: ECONOMICS I

PAPER I: BASIC PRINCIPLES OF ECONOMICS

COMBINATIONS:

— HISTORY-ECONOMICS- GEOGRAPHY (HEG)
HISTORY-ECONOMICS- LITERATURE IN ENGLISH (HEL)
MATHEMATICS ~-ECONOMICS- GEOGRAPHY (MEG)
LITERATURE IN ENGLISH-ECONOMICS- GEOGRAPHY (LEG)
MATHEMATICS-COMPUTER SCIENCE-ECONOMICS (MCE)

DURATION: 3 HOURS

INSTRUCTIONS:

1) Write your names and index number on your answer booklet as they appear
on your registration form and DO NOT write your names and index number

on additional answer sheets if provided.
2) Do not open this question paper until you are told to do so.

3) This paper consists of Two sections: A and B.
SECTION A: Attempt ALL questions.
SECTION B: Attempt any THREE questions.

4) Candidates must give explanations with relevant examples where necessary.

(55 marks)
(45 marks)

5) Use only a blue or black pen.

2022-2023-NESA (National Examination, and School Inspection Authority) 017-Pagelof4

4

CamScanner

SI— —


https://v3.camscanner.com/user/download

SECTION A: ATTEMPT ALL QUESTIONS- (55 Mmarks)

(4 marks)

1) Choose the correct answer. I res
a) In a subsistence economic systf__\,_\ogxfges are allocated by:
~ - -

i) Private sector.
ii) Traditional and customa ‘
i) Thé government on behalf of its Citizens,

s - ;"‘

ry institutions,

iv) Both government and private individuals.

b) Consumer sovereignty in a free enterprise economy implies that:
i) The consumer can take commodities without paying for them.
i) The consumer has a right to destroy the commodity in

front of the producer.
iiij) The consumer has the capacity to influence the productive

decisions of the producers.
iv) Consumers are individualistic. "

¢) In a centrally planned economy, there is, except
i) Ownership and allocation of resources by the government.

ii) Price determination by the government.

iii) Decision of what to produce and how to produce it
is made by the people.
iv) Private individuals are allowed to own some resources.

d) Which of the following doesn’t characterize mixed economies?
i) No consumer exploitation due to government intervention.

ii) Public goods are ignored in the economy.

iii) Government ¢ontrols prices set by private individuals.

iv) Equal distribution of resources.

2) Match the following types of markets with their respective

definitions. (4 marks)
i) Money a) is where contracts for delivery at some future date
markets are traced.

. . b) is the market where currencies are traded due to )
ii) Capital international trade.

markets

iii) Foreign c) These are financial markets which deal in short
exchange term loans.

iv) Future d) These are financial markets in which medium

market loans, long-term loans and securities are trade.
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3) Use appropriate economic terms tq fill in the gaps. (5 marks)

a) If two firmﬂs in the same line of pusiness merge , it is
called.”....!........merger.”

b) If two firms at different stages of productlon merge, it is
called ........... merger.

c) If two firms in unrelated line of business merge,
it is called...........q. merger.

d) The advantages that a firm enjoys due to long run expanSIOrl
resultingfinto a fall in average costs of production is kriown

€] nrenngniteags o g of the firm is obtained by d1v1dmg the change
in total revenue -by the change in total product

4) Study the table below and answer the questions that follow.

Country Resources | Maize Sugar
(tons) tons

Rwanda 5,000 20,000 15,000
Tanzania _ 5,000 15,000 5,000

a) Calculate the comparative advantage of the two

countries.
b) State the commodity that each of the two countries

should concentrate on by producmg it for consumption
and exchange.

(3 marks)

(2 marks)

5) The table below shows the quantities of mangoes demanded
at various prices in the market by consumers A and B.

Pfice Quantity demanded Quantity demanded |Market demand
(FRW) | by individual A (in kg) | by individual B (in kg)| (in kg)

1500 |10%~ 18 )

1550 |7 . 17 ﬁ

1600 é) 16

1650 5 15

1800 4\ 12

1900 2 K 6

4

a) Calculate the market demand for mangoes at all price levels.in’

the market.
b) Illustrate the information in the market demand with its

respective prices on a curve. (3 marks)

b~
BERER
( CT¢ (

(3 marks)
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6) Define the following terms: 5 3
a) Gross Domestic product (GDP)- | , (2 marks)
b) Per capita income. | (2 marks)
¢) Personal income. [ 4 (2 marks)
7) Explain any five determinants of demar for labour, (5 marks)
| 8) 'a) What is meant by taxation? ‘ (1 mark)
1 b) Explain the effect of taxation on:
7 i) Saving. / (2 marks)
ii) lgh&sical investment. jl (2 marks)
!
9) a) What s unemployment? , l (1 mark)
b) Describe the problem of voluntary unemployment. (4 marks)
10) Suppose you are an entrepreneur and your business is making
profits. Explain two ways in which your profit will contribute
to economic development of your co ntry. (5 marks)
11) Analyse the following as causes of maintaining small scale
firms alongside the large scale ones: (5 marks)
a) Fear of rising costs.
b) Market limitation.
SECTION B: ATTEMPT ANY THREE QUESTIONS. (45 marks)
12) a) Distinguish between import quoter and import duty. (2 marks)
b) Analyse the impact of commercial policy on an economy. (13 marks)
13) Assess the effects of increased money supply in an economy. (15 marks)
14) a) B is a developing African country. B like any other
developing countries has relied on aid for most of her
development programs. Identify the dangers’that are
likely to result from overde endence’on aid,” o (8 marks)
b) Evaluate why it is beneficial for developed countries to-give
~ assistance to developing countries. (7 marks)
15) After the occurrence of COVID 19, Rwanda like other African
countries is experiencing persistent increase in prices of most
of the commodities. ‘
a) Name the macroeconomic condition that Rwanda
is experiencing. (1 mark)
b) Advice the ministry of finance and Economic planning.
of Rwanda orf ‘th"c;_ policies that should be put in place_
to overcome thi?jn_fg(":‘rngéonomic problem. : (14 marks)
16) Suggest different measures that our country could undertake
to overcome the problem of Economic underdevelopment. (15 marks)

- END -
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SECTION A: ATTEMPT ALL QUESTIONg, (55 M2kS)

true or false. (4 marks)

1) Indicate whether each of the statem clow is :
Shitsil ier can accept in

a) Reserve price is a minimum price that a suppl
exchange for the commodity.

b) Demand is an arrangement within each buyer @
exchange of a given commodity.

¢) Haggling is a way through which prices are determ i
d) The term “ceteris paribus” in economjcs means everything 18 €O

nd sellers negotiate the

ined in the market.
nsidered.

2) Define the following:

a) Variable costs. (2 marks)
b) Fixed costs. (2 marks)
c) Horizontal merger. (2 marks)
d) Conglomerate merger. ' (2 marks)
3) Give any four determinants of exchange rate. (4 marks)
4) State any four features of agriculture in Rwanda. (4 marks)

5 a)lfa rice firm employs 700 people in production of 84000 bags of rice,
solve for the personal contribution of labour in that production
process in terms of bags. . (2 marks)

b) A mathematical model below was formed to relate the income of
individuals and their personal expenditures in a given month.
C =600+ 0.92Y;
Where C= consumption, Y= income. Solve for the consumption
expenditures of an individual who earned 20,000Frw that month. (2 marks)

6) Study the figure below and answer the questions that follow.

Y

>

F

8

0 M A > X
Commodity X
a) On the diagram above, identify the consumer’s budget line for ”
Q&- his/her income. (1 mark)
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b) Which indifference curve gives the highest level of satisfaction?
Why do you think so? (1 mark)

¢) Which combination on the above diagram gives more satisfaction? Why?

(2 marks)
7) Explain how the following are determining factors of globalization: (6 marks)
a) Improved transport
b) Improved technology
8) Give any six determinants of a country’s National I[ncome. (6 marks)
9) Explain the relationship between industrial development and .
urbanization. (4 marks)
10) Explain any five factors that are responsible for the success of trade
unions in demanding for wage increase. (5 marks)
11) Explain the following types of plans:
a) Centralized plans. (2 marks)
b) Comprehensive plans. (2 marks)
c) Perspective plans. (2 marks)
SECTION B: ATTEMPT ANY THREE QUESTIONS. (45 marks)
12) a) Define capital as a factor of production. (1 mark)
b) Analyse the role of capital in production process. (14 marks)
13) a) What is meant by the concept “per capita income?” (1 mark)

b) Per capita income is not a good economic indicator to compare the
standards of living between countries. Defend this affirmation. (14 marks)

14) According to Keynesian theory increased aggregate demand can
solve the problem of unemployment. Using different ideas, support

this theory. . . (1S marks)
15) In developing countries, taxes,are the main sources of government’s revenue.

But in most of these countries taxation incurs enormous problems.

a) What is taxation? (1 mark)
b) Explain any four problems incurred by taxation in developing
countries. (4 marks)
c¢) Suggest any five policy measures to improve tax collection in
developing countries. (10 marks)
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16) One of Rwanda’s goals is to attain middle income status by 2035.
To achieve this goal, Rwanda has, among other objectives, to
accelerate the growth of its industrial sector.

a) What is meant by the concept “growth of industrial sector?” (1 mark)
b) Suggest different policy measures that Rwanda could take
in order to accelerate the growth of its industrial sector. (14 marks
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